## **ORDER #002398**



08/12/2022 09:00 AM | Install 08/13/2022 08:00 PM | Event Date 08/14/2022 10:00 AM | Strike - \*Out by 4pm PO: Shipping Address: 5431 W 104th St, Los Angeles, CA 90045 Wife of the Party Inc. 318 S Date Ave Alhambra, CA 91803

Order Date: May 27, 2022 Due Date: Upon Receipt

Description		Qtty	Price		Total
General					
	Ram Board To cover/protect existing cyc wall	2	\$80.00	Т	\$160.00
	Spandex Linen, Black 6ft For check-in	2	\$30.00	Т	\$60.00
	Tassle, Gold	10	\$0.00	Т	\$0.00
	Plywood Sheets	15	\$0.00	Т	\$0.00
			Total General		\$220.00
Inside					
	Chiffon Pull Backs	4	\$25.00	Т	\$100.00
P	Marsai Accent Chair	1	\$95.00	Т	\$95.00
	Marsai Chaise	1	\$140.00	T	\$140.00
	Chanel Communal Table, Gold For LemonHead	2	\$200.00	T	\$400.00
	Olivia Bar Stool, Gold For Chanel Communal Tables	4	\$27.50	T	\$110.00
	Mondrian Shelf Gold	2	\$200.00	Т	\$400.00
	Moss Pendant Lamp	18	\$55.00	Т	\$990.00
	Gatsby Bar, 6ft Gold Top ** // For Cake/Dessert & Crepes	4	\$250.00	T	\$1,000.00

Description		Qtty	Price		Total
	Gooseneck, Chandelier Support	3	\$70.00	Т	\$210.00
	Medium Chandelier, French Empire (1) Over the Bar // (1) Back Area	2	\$350.00	T	\$700.00
	Small Chandelier, French Empire (1) Cake / (1) Photo Booth	2	\$250.00	Т	\$500.00
	Stage, 12' x 24' x 2'h (9) Pieces	1	\$675.00	Т	\$675.00
	Double Step for Stage Brown Carpet	1	\$75.00	Т	\$75.00
	Round Stage, 16' Dia. x 1'H	1	\$900.00	Т	\$900.00
	Step for Stage Brown Carpet	2	\$50.00	Т	\$100.00
	Pipe and Drape, 79' x 11'h // Emerald Green Velvet Short Sides -	2	\$948.00	Т	\$1,896.00
	Pipe and Drape, 128' x 11'h // Emerald Green Velvet Long Sides	2	\$1,408.00	Т	\$2,816.00
	Chanel Curved Sofa, Emerald Green 6ft	4	\$300.00	Т	\$1,200.00
	Ava Sofa, Emerald Green	4	\$350.00	Т	\$1,400.00
	Ava Arm Chair, Emerald	8	\$125.00	Т	\$1,000.00
	Wilshire Sofa, 8ft Emerald Green	4	\$350.00	Т	\$1,400.00
	Chanelled Arm Chair, Emerald	8	\$125.00	Т	\$1,000.00
	Ottoman, Emerald Green	32	\$45.00	Т	\$1,440.00
	Vantage Coffee Table	4	\$95.00	Т	\$380.00
	Wilshire Coffee Table	4	\$125.00	Т	\$500.00
	Willow Side Table	2	\$75.00	Т	\$150.00
	Wired Cocktail Table	10	\$110.00	Т	\$1,100.00

Description		Qtty	Price		Total
A	Wired Barstool, Gold W/ Black Pad	40	\$25.00	Т	\$1,000.00
	Sofia 360° Bar, (2) Pieces	1	\$900.00	Т	\$900.00
			Total Inside		\$22,577.00
Outside					
	Black Astro Turf, 12' x 24 Twinkle Light Entrance	1	\$244.00	Т	\$244.00
	Banquet Table, 60" Rnd	10	\$12.00	Т	\$120.00
	Linen, Emerald Green Velvet - 120" Rnd	10	\$40.00	Т	\$400.00
	Wood Bar, 6ft Beyond Meat / Yogurtland	3	\$175.00	Т	\$525.00
	Wood Back Bar	1	\$175.00	Т	\$175.00
M	X-Back Chair, Light Wood	80	\$12.50	Т	\$1,000.00
			Total Outside		\$2,464.00
Outside Lightin	ng				
	Concrete Base, 350 lbs	9	\$75.00	T	\$675.00
	Truss w/ Base, 14'	9	\$175.00	Т	\$1,575.00
	Truss Cover, Black	9	\$45.00	Т	\$405.00
	String Light, 750ft	1	\$1,500.00	T	\$1,500.00
			Total Outside Light	ing	\$4,155.00
Floor Covering					
	Brown Carpet, 79' x 128'	1	\$19,930.00	T	\$19,930.00
	Emerald Green Turf, 90' x 84' Outside	1	\$8,400.00	Т	\$8,400.00
	Brown Carpet, 12' x 24' x 2'h Stage Covering	1	\$873.60	Т	\$873.60
	Brown Carpet, 16' Round Stage Stage Covering	1	\$631.80	Т	\$631.80
			Total Floor Covering		\$29,835.40
Services					
	Trucking Fee	4	\$375.00		\$1,500.00

Description		Qtty	Price	Total
	Trucking Fee Additions	1	\$175.00	\$175.00
	Install Fee (Day 1) Based on a 10 Hour Setup	1	\$3,500.00	\$3,500.00
	Install Fee (Day 2)	1	\$1,120.00	\$1,120.00
	Strike Fee	1	\$2,240.00	\$2,240.00
	1.5% WC Fee	1	\$1,101.23	\$1,101.23
Notes			Total Products:	\$59,251.40
		Total La	Total Labor/Services/Misc:	
			Taxes:	\$5,628.88
			Discounts:	(\$0.00)
			Total:	\$74,516.51
			Payments:	(\$0.00)
			Balance:	\$74,516.51